DU ZEREAE L N EiEEEHSYEER

—_— ~ R e = = == R T SR ¢ 2\%
CFEE CONGE—FPECET (#iBEE) FOMHEIHRE - saY 1) TSI & ] /&=y [WEE [A2
—_— - 15[08] 1.0
- = (= | 40|08 1.0
l_ n’ 15105 1.0
25105 1.0
40105 1.0
15108 1.0 1 EFE (0.0 1 \N20| 05 2.5
1.510.8 1.0 1 E8 (2.0 0.0 0.5 25
. 25105 1.0 2 fbix |2.0 N/ 2.0 0.0 0.0
[E%ﬁﬁﬁl 40105 1.0 3 fbi#f |2.0 /) 0.0| 0.5 2.5 .
\ )
~ B3 - STERS 10-2 10-7 10-510-6 10-8
I Y -
e (G2) GE)
o 10-1 - 10-8 10-9
55, RFE SR H2[EEERRIEYMETER
57. | HERHIEMEER — (101 R—=3ID N BEr&EED&EERD (i | o Wews W wo—>v | mEe — Eo%D — )
74 SIIEICHD) D 57 e Ll S e (®) |mosum)
¢ X i l20~! 20| 00 | 00 ) (W)
ﬁs _ 4 E{{“jﬁ*ﬁ X ﬁﬁﬁ 20/5 0.0 0.5 25 (?_J) ’>f<(/\)
87 _ = %% 46 %%4:@53) (H|7:|= 56 E%% 11 00 ,='5) Y ﬂt& 40 %, 0.0 0.0 4.0 (12) (&)
(Lig"‘éiﬁ X fibit 00 1N20 0.5 25 (3) (%)
X fibiE 20\, 0.0 -0.5 1.5 (%) (%)
Y (F) mOBELE)
ﬁs -5 1’EEE1§|J(CEBU —~ 4 (20 SN
| 1BEY BEEEN. IEXSOEE | |, . o h \
88 DNEES EayE——— 1 XY AQEEHICHITD 10-2 10-7 10-5 10-6 10-10 10-11
RO TEREBD DS | — \
. N=(A1xBi1—L)xH1/2.7 N=(A1xB1)xH1/2.7-L _ - .
NN EstERosE §1F e :
?r N=(A1xB1)XH1/2.7+(A2xBa—L)xH2/2.7 | N=(A1xB1)xH1/2.7+(A2xB2)xH2/2.7—L - -
I - 32
2 | Hi 3584 H1 @ EBEOREE24 O i DB B R EE b # 5 L
H1%§ytb®§huj®irm® BE&@EEEE? g i ’:«m ::quwwwwwowwww NEE R R (2 [0
& | cem AEPRENO HRORERRERE EEL. S2mBFOBeE273% Ee o e A FEECCEE B
p @ ; /\>\><//\\\X///\\//<>\<\\/////\</\\
26 p.74 Bl ol el e e
Ho  MEPE(CERT I DBEICHITD 2 EDIEEe P e e e e e e e e e e
g ) Ho | SEIICEIS BEECBIT 5 2 BEOMAH PR IS 2 SO S e e e Eeee
# | Ho D388 U —— O _FOBERDEBEHER STl ok Lk -
mEREE EEL. 32mUTOE8E27E9% e e
R3-14 FICWMOFL i F i -
102|  EHHLVOBEEM > > o ENNCERENCEN: STEME
BICKPHWEE | DADHOVLDEE v DEDFHINDIEE ¥
%£3-15 8 | s 5
104 | RTFERHS 3RE | 18 56 FREE 1100 SRIRSE— () B3 56 RS 1100 SHIXRB= () SEER - :
(EHEDTELD) i
ﬁgggic 2222 i
g \
144 J0—F+—bD PRACKBR: 8 B e fals 3
s 72380 — — :gg ﬁ‘ @@@%‘%‘g‘g‘gg:ﬁ‘%smggg%mg‘gg‘%ﬁ‘g‘g‘ﬁgmﬁ‘%ggg‘%s‘%ggﬁ‘%g;ﬁgg‘ﬁ‘%g‘g%ﬁ
Bl Lo bhkE PRE RRE RERE ERErrEEEE b kil e e ]




